Multiply and Divide by 10 (D)

Find each product or quotient.

0.7x10 = 0.6823 +~10 =
46 +10= 9.286 X 10 =
2.2x10= 7.79 X 10 =
6.776 X 10 = 8.4926 - 10 =
1.067 X 10 = 3x10=

6.69 - 10 = 44323 X 10 =
7.8 x 10 = 7.29 -10 =
5.3667 +- 10 = 431 x10=
5.368 x 10 = 3.9x10 =
1.704 - 10 = 3.959 x 10 =
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Multiply and Divide by 10 (D) Answers

Find each product or quotient.

0.7x10=7

46 +10=0.46

2.2x10 =22

6.776 X 10 = 67.76

1.067 X 10 = 10.67

6.69 ~- 10 = 0.669

7.8 x10=78

5.3667 =10 = 0.53667

5.368 x 10 = 53.68

1.704 +-10=0.1704

0.6823 +~10 =0.06823

9.286 x 10 =92.86

779 x10=77.9

8.4926 = 10 = 0.84926

3x10=30

44323 X 10 =44.323

7.29 +-10=0.729

431 x10=43.1

3.9x10=39

3.959 x 10 = 39.59
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